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 [The numbers in the riddle correspond to question numbers.  The answer to question 2 is 1.4 Amps, which 
corresponds to the letter R.]​ Solve the Riddle below. 
 
0.235 = F​ 0.27 = S​ 0.64 = M​ 0.68 = T​ 1.04 = P​ 1.4 = R​​ 3-23 = D 
4.25 = W​ 4.5 = B​​ 11 = U​​ 12 = L​​ 13.4 = 1​ 14 = V​​ 16.5 = J 
23 = O​​ 23 – 4 = G​ 23.5 = A​ 27 = Q​​ 60.5 = H​ 62 = Y​​ 204 = N​  
206 = C​ 216 = X​ 380 = E​ 390 = Z​ 420 = K 
 

When is a storm cloud not fully dressed? 
 

3 4 11 5  10 8  7  10 5  10 8 7 

           ‘         
 
   8 4 9 5 1 11 2 3 11 6 2   
         R    R   
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